OSmK--- S HEHERSHS g
BT, BTHEESRAR

A5 E I u) T IRAE D48 44
—. HeH. @BE27, H140)
1. =B, LK. FEAMZE 20 cm, =& 5cm, ERHAZ
( )o
2. AEFHREE D AR Z 12.3 cm?,
AT AE( Jem?s

3. A ERHER=( YA THIAA +
( YT R o

4 HEOTR=( ORI
T

5. 4 ANEREARE 1T TR, EMMEMEBRLR )
I Tk

k. (B3
AT RS 10 m, o 3 m, EREAGE 30, ()
2. ERREEE WAL € Al LA AT YA . C )
3. B TATIILIBAE R B K — DRI, KRR, AR K,

C )
4. =M m=mR-2+K. C )

[

5. NE, AR AREMESE, R == AR

1/7

s e, T, BR, ERTHAD
LIS T, RS R



OSRG-S FBHERSHES i
1T, BAREESHRRE

FAAHEE o C )

=, H—H. (84)
FE T A& ARl — AN TT IR = M8, eI AR ER S
Pl P47 DU 277 B Th AR AH 45

0. Feek. 328 7)

1. RHEGEEHIAR. (B em)(EE S 70, 3L 15 7))

30

20 {
9

(2) 18

(1)

2+ 2
HE
1.5
(3)1 6 Im|

2. RS I . (FBAL: dm)(5 77)

2/7

VS s, b, EE, IR TR
ST, BAREESHESE



3. TRAMERZ AR (BEANTHBTEHARE 1 em?) (R 4 77,
L8 m)

(OGS ETE R R

Q)THE A2 B B AR .

f WM. (B 7 55, L35 9))
1. RARFIEIART, RIRE] T — D REICFRE?, e E

3/7

SRS s, s, E, ERTRI
S T, DEEESREAE



OS8R RN FENERSES o
ST, BRIk ESREATE

Z /07 (AZ: cm)

25

2. JURE AR KA I ERAR 25 A A A Bt il 1 — MAsiE R (i ), 35 5
HH T 2 DRI ?

0.9

50
HEEH 0.0 m

0.8 m

02m

3. BEHERE —sRIOTEAM —minEIrd. RIS R HRHHAK
Fl oy BT AR (FAZ dm)

4/7




OS8R RN FENERSES o
ST, BRIk ESREATE

4. wEbOLoRFE(EE CRRED eS| 7 — P mE, HlfFX
AN EHEZL ] 22 DR AR ?

09m| |1.2m

09m

1.2m

5. TEZ—mE, PHAE MK 2m, 5 1.5m K%, WU
T EIEET T KA 160 Busg, — L B 2 /DB ?

42 m

5/7

VS s, b, EE, IR TR
ST, BAREESHESE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

BR

—. 1. 50cm? 2. 246 3. =il KHE
4. ‘PATIILE  BE 5. B

1. x 2.x 3.x 4. x 5. 4

M. 1. (1)(8+18)x20+2—15%x8+2=26%10—15x4=200(cm?)
(2)20—9=11(cm)
18x94(18430)x11+2=162+264=426(cm?)
[S4k Y 2 E s — MK TR — TR
(3)6—2x2=2(cm)
6x4—(2+1.5)x2+2=24—3.5=20.5(cm?)
2. (12430)x21+2—30%x21+2
=42x21+2—15%21
=441—315
=126(dm?)
B 12x21+2
=6x21
=126(dm?)
3. (D

(2)(3+5)x3+2+5%6+2=4x3+5x3=27(cm?)

Fi. 1. 20—15=5(cm)

6/7

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR



OS8R RN FENERSES o
IO TH, AREESRRER

15x5x3+25x%5

=75x3+125

=350(cm?)

% ERHEARAE 350 cm?.
2. 0.2x0.84+0.9x0.9

=0.16+0.81

=0.97(m?)

Z: AT 0.97 m? Bk .
3. 7—4=3(dm)

(4+7)x4+2—3x4+2

=22—6

=16(dm?)

& BSZE O BT AE 16 dm?,
4.  1.2x1.2—0.9x0.9

=1.44—0.81

=0.63(m?)

Ze HFIXAEHEZH] 0.63 m? AR
5.  6x42—2x1.5+6x1.5:2

=252—3+45

=26.7(m?)

26.7x160=4272(8) %&. —ILFHEH 4272 Yok,

7/7

SRl e, T ER, EETHI0

Saes O, TSRS HEAE



